201948 H24H ¥ 1R 2% — 4 4

IR 27— 418 5?0(12 ;f—o l.‘;EIBE ) ii%éﬁﬁ?ﬁi;ﬁ 3'3?33%‘ éISZ? 4 544 3 355 2 ’i }
= w K = b 155, LS : 1
Y5ILy FR 2% 8 241 BF 0:55.8 L—R 5y FEE MMM 19 MMS 7 SMM 2 SMS 2 Grant J
PEEE | PEEYR | BEXES F 3R HTE=RER ;s%a BHE GE_ ¥, E) B 2f1B=L—2% I/ T4vT 952 3fiE= %IIE EH - BE - AR A
B OF | BABMEE|S 5512358 SARE - E BF -2 2. 3. 4AEBIEN 5/TE =36 - o BiHRE 24L ENY3
26| B 2 |EdEs/Felf  4BUT ZHIIF - chi - 4OF (HEL., W9, SELY A3 FML ﬁl’;ﬁﬁs& A-b~4fh - 3F~4F - 1{3F(5~1) +Y 3 FIREL
(& 8| Bow) ME| 2 @ | & 008 |Bm E:iX S\Iﬁkg:;gm L—REYBFAAL - HBEOEYIFEAL > 0.5 DBAKTE MTH=1EEXE2EE (FE) 1. 2. SEEOWHE
£E/BE BAoX | BERME | 7ToARM| # BeFR| M2 500 HiE WA 3FERT 4FERT SR
F—FRART— 2|13 W B & ﬁgo 0.0.3 iﬁo.o.o.] 13%5 1231;3& o&é% 129.1%7 2721{%52 %g 129%.1331%:& gg
S ~ > S Hl F£40.0.0.0 =0.0.02 — 3l — 3
ROANIA LT 54.0 .128 84 0.0.0.0 [ FPH0.0.0.0 |8 1288 6% TA 5 7m 1&6A BM|6  8m 5& 5A
1] a1l n=ra—x<y— B | deatix 7 05798 | /h4 0.0.0.0 | F£0.0.0.0 | 436 -8 AJIME 54 @OO | 444 +7 RIIIE 54 ©B® | 437 FJIE 54
(£v/nJnq) B . 202| 47 0579© | A 0.0.0.1 | F/00.0.0.0 | 1300m & B 1:30:9 44.0 [ 1300m & R 1:28:9 41.3| 900m & 7 0:57:9 39.5
RAEE [%]] 0.0.0.3 | %0003 [£40003 | -®®-®--|MS 39.3-41.2 221 (10) | MSM 39.4-39.2 331 (4) | MMM 37.6 412 (8)
RS 0.0.0.0 | #0502£0580 | £%0.0.0.0 |18 0002 1{r'y3.8) AEE | KT owh-Q.6) k& I7-# 9 (1.9) BB
EoTO9Y 529 T |HEF0004 | AEO000T [19.08.12 11 & f&&E |19.07.159 & f&& |19.06.30 10 & {&& |19.06.15 10 ¥ {E&
AHSF v NS F40.0.00 [ F=0003 | 2% — 34 % | 2m—2# 2% | 2m— 14 za& 2%— 24 HE
7 - 54.0 .161 E40.0.00 | Fm0.0.0.0 |9 1258 9% 8A 5 |9 58 9% 8A k4[5 888 7% 8A 9 1038 1& TA 8RN
A 2 9528 — B | 4Ltk | #57F 1006@ | N4 0.0.0.0 | F£0.0.0.0 | 396 -2 JIIEE 54 DM | 398 +5 JIHIE 54 @DO | 393 -1 A 54 @@@ 394 KrEdH 54 ®9
(Danzig) {8 . 202| 47 1006@ | EA 0.0.0.3 | F/00.0.0.0 | 1300m & B 1:31:0 43.2 | 1300m & F 1:33:5 47.6|1300m & 7 1:30:1 44.1| 900m # K 1:00:6 37.3
KEKIS [#]] 0004 |Z0002 [£40004| @ --©-6| WS 39.3-41.2 132 (8) | HMM 38.9-40.2 211 (9) | HSM 39.0-40.3 331 (6) | MMM 37.5 314 (4)
MRER 0.0.0.2 | 02020580 | £% 0.0.0.0 |18 0002 | L1{rv@3.9) AEE | A -L8.0)  BEE | Ly rVs-v @) kEkE [ 35 4U0(5.0) pibit -}
J—=F ) R—= 2 - B ‘E%;oooo FH0.0.0.0
= N I 0.0.0.0 | ¥=0.0.0.0
VEILE 54.0 .239 #®%0.0.0.0 | FrM0.0.0.0
3 Kl TG4k = | BIE NS 0.0.0.0 | F0.0.0.0
(FTSAFTUVREAL) €8 129 EH0.000 | F/00.0.0.0
#HA—AI 0.0.0.0 £H0.000 [ o
S v 0.0.0.0 | 305050580 | £ 0.0.0.0
AFS5T4 AF— 52|18 ©: ::: |&EF0005 |ABHO0001 [19.0812 13 & &K |[19.07.30 1] & #&& |19.07.15 13 & f&& |19.0630 8 & 1&& |19.06.15 13 ¥ &
HL ) TFRE kIR E=A0000 | F=0004 | 28— 34 2% | VFEDLYE 2% | 2m— 248 2% | 2m— 14 2% | 2m— 2% 5
i 53.0 .123 &4 0.0.0.0 [ FPH0.0.0.0 | 6 1288 5% 6A 4  TE2ES5A A |5 9mE 5% TA 7 8 8% 6A Kb |7  108E 8FIOA 4
4o | vxvruve B | mEt %R 0580 [ /N4 0.0.0.0 | F£0.0.0.0 | 390 -2 HizkiE 53 DDD| 392 +6 HikiE 53 @@ | 386 -6 tikiE 53 DD@ | 392 +2 Hk#E 53 D2® | 390 HKIE 53 [06)
(FTRRFEHN) 8] . 178] 47 0580 | E4 0.0.0.3 | F/00.0.0.0 | 1300m & B 1:29:3 43.4 | 1300m & R 1:28:9 43.0 | 1300m % Z 1:29:9 44.6 | 1300m 4 & 1:31:3 45.6 | 900m 4 7 0:58:0 39.9
RIS [%]] 0005 | %0003 [£40005| -© @ -0 WS 39.3-41.2 521 (9) | HMM 38.4-40.9 532 (5) | HMM 38.9-40.2 511 (6) | HSM 39.0-40.3 511 (7) | MMM 37.5 511 (9)
AT 0.0.0.5 | #0502£0580 | £%0.0.0.0 |18 0004 | L1{r'v(2.2) HEE | 43457 3Q. 1) b bty T -L(4.4)  SESE | h-un AYs-v(5.3)  BkEE | T 4Uv(2.4) pisPv -]
FATFUR—L 42 11 T |EX0003 |AE0.0.01 190812 10 & {E& 19.07.30 13 & k&% 19.07.139 ¥ &8
B ) LY EES FA0000 [ F=0002 | 28— 34 2% | VEDYE % | 2E—34 HE
~ 55.0 .099 840000 [ Fm0.000 |11 1288 2&12A KW |6 78 4& 1A 8 8% 6% 8A
5[5 FA4F—18—F 1 REE | #BARE | 457 1009® | /41v40.0.0.0 [ F0.0.0.0 | 480 -8 EIAE 55 @AM | 488 0 FAE 55 @DDD| 488 MAE 55
(Singspiel) 8 17| 4E7F 1009® | B4 0.0.0.1 | F/0,0.0.0.0 | 1300m & £ 1:31:3 41.6 | 1300m # £ 1:31:6 43.7| 900m & 7 1:00:9 39.3
MRER [#]| 0003 |20003 [£40003 | -®-®-®--|MS 39.3-41.2 133 (4) | HMM 38.4-40.9 231 (6) | MMM 37.6 232 (7)
MIRER 0.0.0.3 | 0202080 | £% 0.0.0.0 |18 0002 | L1{rv@4.2) 5&22 $3/49°3(5.8) k5 I7-H fyb (4.9) BB
e 2|13 A |EF0002 | AEO0.00.1 [19.0812 14 & 1&& |19.07.27 14 & &
FA L= BER F40.000 | F=0001 | 25— 34 2% | 2m— 34 HE
54.0 341 #40.0.00 | FmM0.0.0.0 |4 1288 3% 4A 6 TEESA W
N 6| A | ENLTFLRA B | KB# 5B 05846 | /1h5 0.0.0.0 | F£0.0.0.0 | 405 -3 #xB3 54 ©DD| 408 HiK#E 53 D
(FA—=TA UG B) E 184 4B 0584@© | T4 0.0.0.0 [ F/00.0.0.0 | 1300m & B 1:29:1 41.8| 900m 4 E 0:58:4 38.5
[#]] 0002 |£0002 [£40002| -@®----|MS 30.3-41.2 233 (7) | MMM 37.3 232 (3)
0.0.0.1 | #0%02£0i80 [ £ 0.0.0.0 | %18 000 1| L5 y(2.0) BEE | r N V(3.2 B
H2 12 B A:::: |[EF0003 |AE000T [19.08.12 10 & f&& |19.07.30 11 & &K |19.06.15 15 ¥ 1&&
HiE %40.0.00 | F=0002 | 25— 34 2% | VFEDYE 2% | 2m—2# 5
55.0 .132 #0000 | Fm0.000 |10 125H10% 5A 5 |7 78 1% 2A B |5 108 2% 6A W
1(7 Z | F58 £ 05726 | /N4 0.0.0.0 | FE£0.0.0.0 | 532 +6 HAK 55 @@E® | 526 +10 FJIE 55 @G®® | 516 FHAEE 55
8 210 &7 05726 | A 0.0.0.1 | F/00.0.0.0 | 1300m & B 1:31:0 44.3 | 1300m % B 1:33:1 46.6 | 900m # 7 0:57:2 38.5
[%]1] 0003 |2 0002 [£40003 | -@-@----|MS 39.3-41.2 411 (12) | HMM 38.4-40.9 321 (7) | MMM 37.5 343 (6)
i 0.0.0.0 | #0502£0580 | £%0.0.0.0 |18 0001 [1{r'v3.9 HEE | h3/45°3(1.3) bl 35 4y (1.6) bispiv -}
O— FAJF R 22|15 B[ O:::: |EF0002 | AEO000.1 [19.08.12 12 & 1&& |19.07.27 1] & {&&
YAy BE #0000 [ F=0001 | 28— 34 2% | 2m— 34 #5
~ < 54.0 247 1840000 | FmM0.0.00 |7 128H12E 3N Ast 5 7 1E TN B8R
8[8|O|4F51X7+—27 | RER | R 05780 [ 185 0.0.0.0 [ FH£0.0.0.0 | 422 +2 Bl 54 @23 | 420 Hrhi 54 ©®©
(FLYFFE1T 1) B .165| £ 05786) | X 0.0.0.0 | F/00.0.0.0 | 1300m & B 1:30:0 44.1| 900m 4 B 0:57:8 38.5
ABELHF [%]] 0002 | %0002 [£40002| -@-®----|MS 39.3-41.2 521 (11) | MMM 37.3 332 (3)
AR 0.0.0.0 | 05020580 | £20.0.0.0 | 8 0001 [I{ryQ2.9 AEE | VI Y(2.6) kB
B S — & 00miE4 5 R (SEEHR : 2017.08. 22~2019. 08. 21) BHTE BER 3 E MR
|[:tod BHES HERES 1F 2% 3&F &S 23 xR % %% 1 2 3 456 7 8
1 Sx G LRr Y b 73 6 5 1 51 0.082 0.151 ¥ @ (3%ME) 27 29 32 28 29 30 29 37
2 TURRFSAN 12 6 1 2 3 0.500 0.583 =
3 Hys/oJnq 28 5 3 218 0.179 0.286 17
4 HHRGATS5R 15 5 3 0 7 0.333 0.533 )
5 FUiaH/FuF 15 5 1 2 7 0.333 0. 400 ==
6 RUTTRA—T7—R—F 16 5 0 3 8 0.313 0.313 th
T FAMNTTFH— 33 5 0 1 27 0.152 0.152 @
8  TFEIAYTYIR 30 4 2 2 2 0.133 0.200 .
9 TIALESYY 1 4 0 1 6 0.364 0.364 % @
10 wyygdyk 32 3 6 32 0.094 0.281 5 ©®6®

Y = .- . N TR 6, HHAOFGERL, HERGY, BTAHEE, $NTEMEERITOHBELLBMALTFEL,
20199°:8H24H {F# 1R 2% — 4l V57 L v FHR 2/ && 900m X—b 4 ARG B OB, IEIRERUET,



